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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an —--—--—-- -- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --------—--- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ~——--—------- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience --—---eemeev for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ---------- -
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be -~ to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and -- --- from years of being out in the
sun and the wind.

----, he continued to assert that he was innocent and had

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the -—-------- -- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is to0 --——-—-—-- an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial



Y axio 856A (V1A o5 = phe dindd 3 U ac goxo

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ----- . They found a temporary

enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ~=—=eeeeeeem the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Our aim is to investigate Kant’s pre-critical views on the use of analytic and synthetic
methods in Newtonian science and in philosophical reasoning. In his 1755/56 writings,
Kant made use of two variants of the analytic method. i.e.. conceptual analysis in a
Cartesian (or Leibnizean) sense, and analysis of the phenomena in a Newtonian sense.
His Prize Essay (1764) defends Newton's analytic method of physics as appropriate
for philosophy, in contradistinction to the synthetic method of mathematics. A closer
look, however, shows that Kant does not identify Newton’s method with conceptual
analysis, but just suggests a methodological analogy between both methods. Kant's
1768 paper on incongruent counterparts also fits in with his pre-critical use of
conceptual analysis. Here, Kant criticizes Leibniz’ relational concept of space. arguing
that it is incompatible with the phenomenon of chiral objects. Since this result was in



.}."’.u)' ww)lf Q,n}TMQU T fé«nﬁ)&w

F axio 856A (YIA) o5 = ple atds 9 20,0 acgoxo

16-

17-

18-

19-

20-

conflict with his pre-critical views about space. Kant abandoned the analytic method
of philosophy in favor of his critical method. We conclude by comparing Kant’s pre-
critical analytic method and the way in which he once again took up the
methodological analogy between Newtonian science and metaphysics.

What is the passage mainly about?

1) Conceptual analysis in a Cartesian sense

2) Kant and the scope of the analytic method

3) Analysis of the phenomena in a Newtonian sense

4) Comparing Kant and Newton in terms of their scientific achievements

What did Kant argue in 1764?

1) Pre-critical analytic method is not cogent enough to solve philosophical problems.

2) Newton's synthetic method of physics is appropriate for philosophy in contrast to
the analytic method of mathematics.

3) The methodological analogy between Newtonian science and metaphysics is the
best way to solve problems.

4) Newton's analytic method of physics is appropriate for philosophy in contrast to the
synthetic method of mathematics.

The word “incongruent” in line 9 is closest in meaning to ~—--=--=enmunx .

1) incompatible

2) indispensable

3) intolerable

4) incomparable

The word “abandoned” in line 12 is closest in meaning to ———--eeveeee .

1) gave up

2) took after

3) looked foe

4) brought about

The passage is most probably ------eceeeeee |

1) part of a daily newspaper

2) part of an encyclopedic article

3) the abstract of an academic paper

4) the literature review section of an academic paper

PASSAGE 2:

Psychologists in the early years of the discipline were much concerned with the
stimulus-error. Roughly, this is the problem encountered in introspective experiments
when subjects are liable to frame their perceptual reports in terms of what they know
of the stimulus, instead of just drawing on their perceptual experiences as they are
supposedly felt. “Introspectionist™ psychologist E. B. Titchener and his student E. G.
Boring both argued in the early 20th century that the stimulus-error is a serious
methodological pitfall. While many of the theoretical suppositions motivating
Titchener and Boring have been unfashionable since the rise of behaviorism, the
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21-

24-

stimulus-error brings our attention to one matter of perennial importance to
psychophysics and the psychology of perception. This is the fact that subjects are
liable to give different kinds of perceptual reports in response to the same stimulus. |
discuss attempts to control for variable reports in recent experimental work on color
and lightness constancy, and the disputes that have arisen over which Kinds of reports
are legitimate. Some contemporary psychologists do warn us against a stimulus-error,
even though they do not use this terminology. | argue that concern over the stimulus-
error is diagnostic of psychologists® deep theoretical commitments, such as their
conception of sensation, or their demarcation of perception from cognition. | conclude
by discussing the relevance of this debate to current philosophy of perception.

Which of the following would be the best title for the passage?
1) E. B. Titchener and His Findings

2) The Early Years of Psychology

3) Introspective Experiments in Psychology

4) Why the “Stimulus-Free™ Is Still with Us

The word “they™ in line 4 refers to —----meemeeev .

1) subjects 2) perceptual reports

3) perceptual experiences 4) introspective experiments

Which school of psychology has been referred to in the passage?

1) Cognitivism 2) Behaviorism

3) Constructivism 4) Functionalism

The word “perennial” in line 9 is closest in meaning to —--—---menmnx 3

1) potential 2) primary

3) perpetual 4) preliminary

The psychologists’ theoretical commitments referred to in the passage are ——------eeeeee o

1) conception of sensation and philosophy of perception

2) philosophy of perception and psychology of perception

3) demarcation of perception from cognition and philosophy of perception
4) conception of sensation and demarcation of perception from cognition

PASSAGE 3:

William of Ockham was a l4th-century English logician who said that “entities must
not be multiplied beyond necessity.” That principle—now known as “Occam's
Razor™—has been used for centuries by scientists and philosophers as a tool to
adjudicate among competing theories. Parsimony means frugality or stinginess, and
scientists should be “stingy™ when building theories: they should use as little material
as possible. If two theories really do exactly as good a job of explaining the empirical
evidence, then you should pick the simpler theory. If Copernicus and Ptolemy can both
explain the movements of the heavens, including the occasional backwards motion of
some planets, then go with Copernicus’s far more parsimonious model.
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Occam’s razor is a great tool when used as originally designed. Unfortunately, many
scientists have turned this simple tool into a fetish object. They pursue simple
explanations of complex phenomena as though parsimony were an end in itself, rather
than a tool to be used in the pursuit of truth.

The worship of parsimony is understandable in the natural sciences, where it
sometimes does happen that a single law or principle, or a very simple theory. explains
a vast and diverse set of observations. Newton’s three laws really do explain the
movements of all inanimate objects. Plate tectonics really does explain earthquakes,
volcanoes, and the complementary coastlines of Africa and South America. Natural
selection really does explain why plants. animals, and fungi look as they do. But in the
social sciences. the overzealous pursuit of parsimony has been a disaster. Since the
18" century. some intellectuals have striven to do for the social world what Newton
did for the physical world.

What is the passage mainly about?

1) William of Ockham

2) Principle of parsimony

3) Laws of natural sciences

4) Competing theories in science

According to the passage, all of the following are mistakes that many scientists make
EXCEPT ---eseveeeeen o

1) viewing parsimony as an end in itself

2) turning Occam's Razor into a fetish object

3) pursuing simple explanations of complex phenomena

4) regarding parsimony as a tool to be used in the pursuit of truth
Which scientists have been referred to in the passage?

1) Copernicus. Ptolemy. and Newton

2) Copernicus, Ptolemy, and Einstein

3) Newton, Einstein. and Darwin

4) Copernicus, Darwin, and Einstein

The word “diverse” in paragraph 3 is closest in meaning to ——--—-==-meex <

1) various 2) enormous

3) serious 4) curious

According to the passage, where has the pursuit of parsimony NOT been successful?
1) Biology 2) Geology

3) Social sciences 4) Physics
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